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Example 1) -3, 7, 0, 2, 100
a a, a, a, a, -— Read"asub5" - the 5" term of the sequence

au: ‘H{\l r"-w M Q'E:I -AQW

Can you write other terms using the "nth" term?

Example 2) 5. 10, 15, 20, 258
&«H"'l {LH am-j &“*1‘“ {l'ﬂ‘*a

Can you find a "formula® to find any term of the above sequence?

an = OB shwrefare aﬁ[} = AS0  and alﬂO: Se 0

For the following , find the first 5 terms and the indicated term.
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Example3) @, =5n-1 Example 4) a, = ”

) 2. o
G-501) -1 = ¢ 4. ~ 1 T

(2" ke 3
3215(1} -1 = 9 az: - - % i \

(2> _, x
Ai-503) -1 = 4 ;. 3 A

L"quﬂ —lll - Ii
g=54) -1 = |9 Oy _ N =

(-3 -3z
As_ 55y -1 = ay & 5 T 5

ey " o 1 6%
alﬂ= Bw) -1 = 4g am; e ? oo 2 R

Could you use the table feature of your calculator here? How could we get fractional answers for (Hint:

put the numerator in¥) and the denominator in V3 ) Lol trde l'. (2

)
A
=/

We call the above formulas EXPLICIT FORMUALAS because we use the mumber of a termto find the
term.




Not all sequences have explicit formulas. Consider the following sequence. What is its pattern and what is
the 7" term?

£t W T Name?
Example 4) Y 2,3 58,18, al (Blonacc < equence)

Pattern? Hhe vieyt devna of he sequence s the Sum of grovicus 2 derms
| i

Bril= On * Opo

We call the above formula RECURSIVE because we use previous terms to find a particular term.

Use the following recursive formulas to write the first 5 terms of the sequence and an explicit formula.

al = M - I[g : a = l.lD
C'\SQS\) az =W1_Ei“ij_zi =y ag: \\'C*al = 1010 =2 100

a3=59—“=7¢:;_"1' 13410 = a3 a3: IDas = 104100 =2 \000
G4=W 2310 =} 43 Ay- \Oa, = 10+1000 = 10000
(,15: B—r<<1 %3+10 = 53 aﬁ.—_ I0ay = 10-10000 =2 loopoD
— e - TE LT expliet
x Ll
Qo= 531 10N +3 o Ay - \Oon-y on 10

\O(n-

] %4
Many sequences have both efpl%?t nd recursive formulas. Some only have a recursive and some only an
explicit. Consider the following sequences and give (a) a recursive formula and/or (b) an explicit formula,

Example 7) 1, 11, 21, 31, _ 'Yl

11 +in Tip

(a) RECURSIVE FORMULA: @, = On TI10 = o =1
(b) BXPLICITFORMUAL: @, = lo(n-1) + | e IOn —9
Note: The pairing here is (1,1), (2.11), (3.21), (4,31) - thisisa_Jims a~o  function. Hence the equation
must be in the y = mx + b formatl 4 =10 = W%t
i T i \3\ = vl *b
A = __q.
Example 8) 4, 16, 64, 256, |024
= I_'Il 0 Ul 3 \.}
() RECURSIVE FORMULA: @,y = Y0, . O, = 4

m

(b) EXPLICIT FORMUAL: d, = %




Example 9) S TR S T
o8 27 647 125 Tk
| 1! 3° ' 53
(a) RECURSIVE FORMULA: 9,y = Muha
= =Y
(0" L)
(b) EXPLICIT FORMUAL: 4, = ne A n?
A
Example 10) il 2. 11 3l 1 | et
2 4 8 16 32
,1| 11‘_ 1*-‘ ‘u 2% -hi
3 03 4+ o0& £ 0%
(a) RECURSIVE FORMULA: @, = Mg
l,,L;_)” i s
(b) EXPLICITFORMUAL: @, =_ |+ L 2 BAL ¥,

Example 11)

A deposit of $100 is make each month in an account that earns 12% interest compounded monthly. The

baiance in the account after n months is given by

~7 An = 100(]01) [_(]‘,? ])” _liT Hint: use your calculatorilll

a. Write the first 5 terms, ﬁ lol. ‘30} § 203 .0) :

§ 306.0% 4 4.0 § SI5.2C

7

b. What is the balance after 5 years? A ®aux -lo-

5 vxﬁum.fw_—:- bo nmentd s

c. What is the balance after 20 Imm? ‘:ﬁ 01 | i 1) 4.4 OI

Ao D wart pOH derms N=LO

Q\D\Eﬂ.m = avy aunnEha

A8 N=2AY%0




